Bae. 247 219 — Solution

Find the vects, eﬁaaﬁms of the two lnes Yol bisact the agg/@
betueen the lines 7 = (52 )+4(-36) and 7 = (52)rullid),

if[@: A usual ) you should
will Gurps your f/uh-/)'»'@ /

éfﬁz}q with « Pn CTURE. This

A 20V, = (5,00 +H(-3,6)
\ E&f V& '—“(b:,})'f'u{“,&)

Let L5 and fzf represent

Vagr o 4 ] AT the reguired lines. Clearl }
Jr/ \Qﬂf the ergaaffbmS of i; ctnd /él-f
P are of the form
b X Ko b -@:(‘5,51)1‘”(@’:)0/3>
by Ty = (53)+5(e, ),
) N/”réfenf ol vection vedors for

where (di,da) and (e, 2,
Q’_?, and /ei(- r@s/oecf;'w(y.

From  the oliagram, ye $¢€ tat
RO+ A = 150° (su/)//éwnré ay/ﬂ’)r
e B+ = 90° H;Z—c:;wem 90> ) XAK
o e a;?g/e between ,@, and /Lf s G0°
O <~ T P W N Y
S (yda) e (e,62) =0
die, +olze, = O (D

(continupd on next poge)
- B‘S"- 1 -



Now recall thet G-v = || Tlees 6 .

B)’ ap,(yfl«j this  successively 1o The pairs of les X and e
and ZJ; cnd ga) we ﬂél{am

Mfﬁzﬁz&lﬁ _—
1(3,6)\ [ (dy)da)]

fd.;d;ﬂ»({l;%)
[y, da) (11,2

, o C36)d,da) (@, da) (,3)
C1CE 0 M T Mt (2]

cos b = cosp =

~3d +6dy Lo + Xela,
a r__—_l..f-q ,_-----lal)_
’ —Bols Gola e (o, + Xz
o 34@: 5N5 |
¢ iG55 [ -2 tlda \ _ i5VE (L) + Aoy
. BB Algase ) = T (FEE

d?'! A'gd\d‘_godg- e 33d; +60[9\
0 - 5d, + ‘00!; == | Lk ‘*’;20{9\ @

Since  thare are :‘rﬂ[*??r'?lfé’ many direction yectors that C‘:?
b(’, CA&SG’m 7%:’ an 3/'1/6;4 (r'ngj we Can C.Aap_ge, d, ’g’ee/éan
solve for ds . F{sf/ i1's Ao&;ﬁ/ to Sf}m/p/ng/ ?fi(a"/fbw 277

{Odé’-"— gdg = ”d; +gd|‘

oy ﬁdg = 16)0"
‘ da = QOI{
B)/ C/?ooS/;a9 o{, = // we @é%m 0;/9\ :Q(?

Threforg  (1,2) is @ orecton vector for b5 . lodued)
- que -



Now we cam aiyﬁ/y eglumﬁ!bm@ o fnd ( e,,Cs):
dig, +dpe, =0 (1)

e+de, = O
’ eq e (9\()’9-
J~7[: wt Choose . @g - ( we 057&““" €= - .

Thorefore, (-2, 1) is a olrection et or Ky .
Summarizirgy , we Finel theit
3= (52)+r(l,2)
and T, =(52)+s(2 1)
are veclr equations of Y, and Xy mspecﬁ/@/)/, /



